1.  A system of 1525 particles, each of which is either an electron or a proton, has a net charge of -5.456 × 10-17C.  (a) how many electrons are in this system?  (b)  What is the mass of this system?

[image: image1.png]e IP The point charges in Figure 19-35 have the following val-
ues: g1 = +2.1uC, qp = +6.3 uC, g3 = —0.89 uC. (a) Given
that the distance d in Figure 19-32 is 4.35 cm, find the direction
and magnitude of the net electrostatic force exerted on the point
charge ;. (b) How would your answers to part (a) change if the
distance d were doubled? Explain.
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3.  Three equal point charges are placed at the corners of a square of side d as shown in Fig. below.  Which of the arrows shown represents the direction of the net electric field at the center of the square?  Explain

4.  Gauss’ law can tell us how much charge is contained within a Gaussian surface.  Can it tell us where inside the surface it is located?  Explain
2.











